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JIiE 42 K e 11 213] 4| GROSS | HDCP NET || NE{L K # 11243 GR0OSS | HDGP NET || IBfL K % 11 2| 3] 4 | GROSS | HDCP NET
1 |XKfE IBE— 52 |47 99 21.6 | 71.4 51 |5 Mx 45 |48 93 16.8 | 76.2 101 |[4t%t & 57 | 51 108 28.8 | 79.2
2 R —B 43 |43 86 14.4 | 71.6 52 |FEE #EZ 45 |48 93 16.8 | 76.2 102 |&3F BHA 54 |51 105 25.2 | 79.8
3 | EE #=x 44 |42 86 14.4 | 71.6 53 |4t =B 49 |50 99 22.8 | 76.2 1083 ixX BE 41 | 51 92 12.0 | 80.0
4 |15H B— 40 |39 79 7.2 71.8 54 |#0O IEfE 53 |52 105 28.8 | 76.2 104 |F=Nl WY 49 |55 104 24.0 | 80.0
5 |FH BA 35 |36 IA -1.2 | 72.2 55 |ThHE =& 51 |54 105 28.8 | 76.2 105 |¥rE IEA 55 |54 109 28.8 | 80.2
6 | BE E 46 |42 88 15.6 | 72.4 56 |& 2 41 |45 86 9.6 76. 4 106 |H¥x HHA 56 |53 109 28.8 | 80.2
1 [#F =X 49 |50 99 26.4 | 72.6 57 |#E  BR 49 |43 92 15.6 | 76.4 107 {Hlim  Af#E 51 |50 101 20.4 | 80.6
8 1% AF 47 |45 92 19.2 | 72.8 58 [lllim BHiE 48 |44 92 15.6 | 76.4 108 ()1l & 61 |58 119 38.4 | 80.6
9 |&£H 3LB 43 |49 92 19.2 | 72.8 59 |#EN =A 45 |53 98 21.6 | 76.4 109 (L3R % 53 |53 106 25.2 | 80.8
10 (&7 47 |51 98 25.2 1 72.8 60 |EFR HZ 50 |48 98 21.6 | 76.4 110 [KII SeF 58 |63 121 40.0 | 81.0
11 (R HE 42 |42 84 10.8 | 73.2 61 [FBX E 52 |58 110 33.6 | 76.4 111 | KB EX 54 | 56 110 28.8 | 81.2
12 %R &— 44 139 83 9.6 73.4 62 Sk ik 42 |49 91 14.4 | 76.6 [RVARE ¥ N -3 74 56 | 60 116 34.8 | 81.2
13 |AE #5RER 52 |49 101 27.6 | 73.4 63 |EHF EH 45 |46 91 14.4 | 76.6 113 | KB &z 54 |47 101 19.2 | 81.8
14 [AKR BBx 46 |48 94 20.4 | 73.6 64 [/ R 51 |46 97 20.4 | 76.6 114 |dej (85 57 | 56 113 31.2 | 81.8
15 (lb@ 45 149 94 20.4 | 73.6 65 |KR#¥ B 5H 49 (48 97 20.4 | 76.6 115 [IRF #ZE 58 | 61 119 37.2 | 81.8
16 |fkig = 41 |40 81 1.2 73.8 66 | ==z 55 (42 97 20.4 | 76.6 116 |db#t PRI 54 |52 106 24.0 | 82.0
17 |#% #x 42 |39 81 1.2 73.8 67 |y EX 44 |46 90 13.2 | 76.8 17 A =i 62 |59 121 38.4 | 82.6
18 |[#:H & 44 |43 87 13.2 | 73.8 68 |/vE EiE 52 |50 102 25.2 | 76.8 118 |db8F H=# 54 | 54 108 25.2 | 82.8
19 |F|H = 45 |53 98 24.0 | 74.0 69 |FENl =— 53 |49 102 25.2 | 76.8 119 |#FK EF 61 |62 123 40.0 | 83.0
20 [5BF EsE 41 |44 85 10.8 | 74.2 10 [FX IE 45 |44 89 12.0 | 77.0 120 (lup B 60 | 60 120 36.0 | 84.0
21 [WF #h 46 |45 91 16.8 | 74.2 N |56 B&5F 52 |43 95 18.0 | 77.0 121 |48 ek 62 |62 124 40.0 | 84.0
22 |8 1Bk 43 |54 97 22.8 | 74.2 12 |XE F 52 |49 101 2.0 | 77.0 122 |de% = 61 | 63 124 30.6 | 84.4
23 | KB RE 40 |44 84 9.6 74.4 13 |HhE fEig 51 |56 107 30,0 [ 77.0 123 |HBR =F 51 | 51 102 16.8 | 85.2
24 |#E ORIE 49 |47 96 21.6 | 74. 4 74 |EBHE HF*x 46 |48 94 16.8 | 77.2 124 (46Nl =& 54 | 48 102 16.8 | 85.2
25 it B 47 49 96 21.6 | 74.4 75 |[EH Et 46 |48 94 16.8 | 77.2 125 [d)Il 8L 56 | 66 122 33.6 | 88.4
26 (JI1#E shX 53 |49 102 271.6 | 74.4 76 |2 FH 48 |52 100 22.8 | 77.2 126 |#EF & 63 | 68 131 40.0 | 91.0
21 k=K FE 44 |45 89 14.4 | 74.6 71 |XfE EE 48 |52 100 22.8 | 77.2 127 |& Bx 70 | 64 134 40.0 | 94.0
28 | #F 45 (43 88 13.2 | 74.8 18 |F%FE BT 47 |53 100 22.8 | 77.2 128 |EHE Yot 70 | 64 134 40.0 | 94.0
29 |BH HE 47 |47 94 19.2 | 74.8 19 |7k&E B 49 150 99 21.6 | 71.4 129 |8 & 19 |72 151 40.0 |111.0
0 (B #iE 48 |52 100 2.2 | 74.8 80 {ZMH 7h 51 148 99 21.6 [ 71.4
3 |BR =R 44 |43 87 12.0 | 75.0 81 |#Ag HE 56 |55 111 33.6 | 71.4
32 |EAR EB 47 | 46 93 18.0 | 75.0 82 |IEM FHFi 45 |47 92 14.4 | 71.6
33 |/ fERE 47 |52 99 240 | 75.0 83 |4 & 48 150 98 20.4 | 77.6
34 |FHFF & 51 |48 99 24.0 | 75.0 84 |lAIEg I 51 |53 104 26.4 | 77.6
35 |fE EhE 43 | 56 99 24.0 | 75.0 85 [#i#k EAC 47 |57 104 26.4 | 71.6
36 e EF 47 |58 105 30.0 | 75.0 86 (LB IEKE 53 |50 103 25.2 | 77.8
37 (BAth & 56 |55 111 36.0 | 75.0 87 |l K= 52 151 103 25.2 | 77.8
38 |E #— 43 |43 86 10.8 | 75.2 88 |th)l] = 62 |53 115 37.2 | 71.8
39 |28 % 53 |51 104 28.8 | 75.2 89 |l HERE 46 |44 90 12.0 | 78.0
40 |"hE HE 45 | 46 91 15.6 | 75.4 90 |/hi2 BER 48 |53 101 22.8 | 78.2
41 %% TEF 56 |53 109 33.6 | 75.4 91 |h#% =8 50 |51 101 22.8 | 78.2
42 |18 R H 55 |54 109 33.6 | 75. 4 92 |4iEE = 52 |49 101 22.8 | 78.2
43 [FE E 46 |44 90 14.4 | 75.6 93 |tkiE EX 50 (44 94 15.6 | 78.4
44 \HFHE JBF 48 |48 96 20.4 | 75.6 94 Nim  f— 49 |51 100 21.6 | 78.4
45 |EBH HiIx 50 |57 107 31.2 | 75.8 9% |FHEH IBZ= 57 149 106 271.6 | 78.4
46 |B1E B4 42 |46 88 12.0 | 76.0 9 | KK & 54 |51 105 26.4 | 78.6
47 |RE EF 50 |50 100 24.0 | 76.0 97 |EE #F 55 |55 110 31.2 | 78.8
48 ¥ F# 39 |42 81 4.8 76.2 98 |F%F B 44 |47 91 12.0 | 79.0
49 |fExd Bk 48 |45 93 16.8 | 76.2 99 | I 49 |48 97 18.0 | 79.0
50 |8 Tk 46 |47 93 16.8 | 76.2 100 |+ =i 56 |46 102 22.8 | 719.2
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